Algebra |  Unit12 Scenarlo 2: Consider the following equations: f(x) = 5x2 + 4 and g(x) =
Day 2~ Comparing Gmphs and fables of Funcﬂons x F(x) G(x) a. As x increases, will the value of f(x) always be greaier
following functions, create a table and graph each funcfion in a different color. than the value of g(x)2
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a) Which function shows a c:cms1on1 rate of change in ifs y values? How is this displayed k 5 ; growth rate of f(x)2
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c) Eventually. which type of function shows the most rapid rate Bf growth in its y values? c. Will the growih rate h(x) ever exceeddhe growth rate of g(x)?2
How is this displayed on your graph?@
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Important Takeaway
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a. Which function has the largest x-infercept? k

b. Which function has the largest y-intertept? A.

c. List the functions in order from smallest to biggest when x = 2:

d. List the functions in order from smallest to biggest when x = 5:

CADB

e. List the functions in order from smallest to biggest when x = 7:
f. List the functions in order from smallest fo biggést when x = 9:

BAC

g. List the functions in order from smallest to biggest when x = 15;

BPAC

h. Which functions have a positive rate of change throughout the entire graph? C,

i. Which functions have a negative rate of change throughout the entire graph? ‘/'\ a

j. Which graph has a rate of change that is negative and positive? B

k. Which function has the largest ROC from [3, 5]2 - Y
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Scenario é: Consider the following representations:

a. f(x) b. g(x) N
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a. Which quadratic function has the smaller minimum value? Explain why.
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b. Which quadratic function has the bigger y-intercept? Explain why.
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c. Name the x-intercepts for each function (estimate if necessary):
W (-9 D ) ai: C)10)
i 7,02
( 2 : o ) ( |



